Math 1 solving by Factoring

Chapter 9
SWBAT solve quadratic equations by factforing.
4 N
Greatest Common Factor . Factoring Trinomials
ax + bx = x(a + b) Solve by Factoring! (X-Factor)
x“+bx+c
\ J \_ J
Set all equations equal to zero before beginning!
N
Dif;fereznce of Squares Factoring Trinomials
X" =y =(x+y)x-y) Step 2: Step 3: (Slip-Slide-Divide)
ax“+bx+c
N Set each Solve for . J
factor X.
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@ Property Zero-Product Property

For any real numbers a and b, if ab 0, then a Dorh (
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Example If(x + 3)(x + 2) = 0, thenx + 3 = O0orx + 2

—
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Example 1: What are the solutions of the equation (4t+1)(t-2)

Practice:

a.(x+1)(x —5) =0

b. (2x + 3)(x — 4) =0
C.(2y + 1)y +14) =0

d. (7n — 2)(5n — 4) =0

Example 2: What are the solutions of the equation: x* + 8x + 15 =0

Practice:
a.m2-5m-14=0

b.p2+p-20=0 c.202-15a0+18=0



Example 3: What are the solutions of 4x2-21x - 18

Example 4: Real World Problems

Photography You are constructing a frame for the
rectangular photo shown. You want the frame to be the
same width all the way around and the total area of the
frame and photo to be 315 in.2. What should the outer
dimensions of the frame be?

Practice:
a. Suppose in the problem above the total areais 391 in?

b. You are making a rectangular table. The area of the table should
be 10 ft2 You want the length of the table to be 1 ff shorter than
twice its width. What should the dimensions of the table be?

c. Jason has a patio of uniform width around the perimeter of his rectangular pool.. The pool measures 22 ft by 12 ft.
If the area of the pool and the patio is 504 ft. what is the width of the patio?



Your turn: Solve each of the following by factoring. Check your solutions by graphing.

1. xX(x+4)=0 2. (2x+1)@Bx-4)=0 3. x(83x+9)=0

4. x2-64 =0 5. —x?= —-121 3x? — 81 = 2x?

6. —3x% = 21x + 36 7. x2-12x + 36 = 0 8. x?-2x=15

0. 3x?+31x+36=10 n 2x% —18x = —24x 12. 5x% + 32x = —28x
13. 6X2+11X+4=0 14. 8X2+18X+7:O 15. 45X2+56X=—16

16. A box shaped like a rectangular prism has a volume of 280 in > Its dimension are 4 in. by (n + 2) in. by (n + 5).
Find n.



